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Sl. No.1
QBID:1007451

Identify the correct preposition to make a meaningful sentence.

Radha left Amsterdam two days )
(1) after (2) ago

(3 since (4) hetween

(1)
(2)
(3)
(4)

A W N =

W, 9, | Al e Aof | e 27

() =™ (2) 399 ¥9E
(3) = (4) T
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42501]
2[Option ID=42502]
3[Option ID=42503]
4[Option ID=42504]

Sl. No.2
QBID:1007452

Identify the meaning of the underlined idiom from the options given.

After his mother's death. Raja was at a loss to know what to do.

(1) careful (2}  confused
(3) unable to decide (4) distracted
1) 1
(2) 2
(3) 3

(4) 4




T=1-1 % e g=i-I1 =1 faem Fife .

-1 1T
(A) FF AT IA RAFE S wem g g T () oo

AT o
(B) R Ffl o2 | g sem d @ @ FemEm (1) FEE
(C) dmEIG=H Tieal § ST (IIT) =efie
(D) TFHF H TWEF = § " i e |

= fou U oRem B B TE I 1 =ae i
(1) (A)-(IT). (B)-(IID). (C)-(T). (D)-(IV)
(2) (A)-(IV). (B)-(II). (C)-(ILD), (D)-(I)
(3) (A)-(III). (B)-(I). (C)-(IV). (D)~(II)
(4) (A)-(I). (B)-(IV). (C)-(II), (D)-(I1I)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42505]
2[Option ID=42506]

3[Option ID=42507]
4[Option ID=42508]

Sl. No.3
QBID:1007453

Choose the correct option to make a meaningful sentence.

Yesterday. 1 to buy clothes from the Spark Mall
(1) go (2) are going
(3) gone (4) went

1) 1
(2) 2
3) 3
(4) 4

fr=fafed 4 o =7 @1 wo2 o foman mn 27

(1) PHEREET (2) 8

]

(3) HATfErETE (4) i

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=42509]
2[Option ID=42510]




3[Option ID=42511]
4[Option ID=42512]

Sl. No.4
QBID:1007454

Identify antonym for the underlined word in the sentence.

Rohan's heroic act saved many lives.

(1) miserly (2) quiet
(3) chivalrous (4) coward
(1) 1

(2) 2

(3) 3

(4) 4

T1-1 % =1y gi-11 1 fgem it .

.1 =111
(A) wfAREA (I) Heg 0¥
(B) wHrEm 1) %3
(C) =5umz (IIT) =zt A1
s :

(D) (IV) ¥93H T8

9 75U T foew °§ ° AE I 1 999 Firu

(1) (A)-(IV). (B)-(II), (C)-(ILI), (D)-(I)
(2) (A)-(T). (B)-(III). (C)-(ID). (D)-(IV)
(3) (A)-(IT). (B)-(I). (C)-(IV). (D)-(IIT)
(4) (A)-(IIT). (B)-(IV), (C)-(I). (D)-(II)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42513]
2[Option ID=42514]

3[Option ID=42515]
4[Option ID=42516]

Sl. No.5
QBID:1007455

Find correctly spelt word from the option given.

(1) Restorent (2} Tolerent
(3) Consistent {4) Excultent

(1) 1




(2) 2
(3) 3
(4) 4

FrafafEd 1 o =1 W =1 99 a9 77

() 5% A o foman 21 (2) 7% T T forE o R
(3) 9% W T arg &) (4) % 4 = femn?

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=42517]
2[Option ID=42518]
3[Option ID=42519]
4[Option ID=42520]

SI. No.6
QBID:1007456

Identify the correct passive voice for the sentence given below :

The government has launched the Swachta Abhivan Programme in India.

(1) The Swachta Abhiyan Programme is launched by the Government in India

(2) The Swachta Abhiyan Programme was launched by the Government in India

(3 The Swachta Abhiyvan Programme has been launched by the Government in India
(4) The Swachta Abhiyan Programme had been launched by the Government in India

(1) 1
(2) 2
(3) 3
(4) 4
fefafEd § @ g 99 TEain

(&) = fage s o g = e E o
(B) 9 gFET FW |

(C)  qe Tom #71 Sf7aa a1 2|

(D) 9 9T I FA|

(E) i viva & & % 92 T2 F2i smut

e fau o fawem 9 ° TE I =EE i

(1)  =Hae (A) 317 (C) (2)  =Haed (B) 37 (D)
(3) == (C) 3 (D) (4) A= (A) 377 (D)
(1) 1
(2) 2

(3) 3




(4) 4

1[Option ID=42521]
2[Option ID=42522]
3[Option ID=42523]
4[Option ID=42524]

Sl. No.7
QBID:1007457

Identify the correct indirect speech for the sentence given below.

Ehea asked. “"Did you watch the movie in theatre last might?”

(1) Rhea asked me whether I saw the movie in theatre last night.
(2) Rhea asked me whether I had seen the movie 1n theatre last might.
(3 Rhea asked me whether I had seen the movie in theatre earlier night.
(4) Rhea asked me did I see the movie in theatre earlier might.

(1) 1

(2) 2

3) 3

(4) 4

Fr=taraa = =28 9 1 =
(A)  FHITCTT BIIE SreE =i AT

(B)  SToTFR T2 37 94 ZE1 H A

(C) 9181 W Sedi &
(D)  wTerR Seft § FE TE a9\
(E)  Higd wgm i 2

9 f5u mu faewi °§ 9 B I w1 999 fitau
(1) (B), (E), (D), (A). (C)
(2) (D). (A), (C), (B). (E)
(3 (B). (E), (A4), (D). (C)
(4) (D). (A), (E). (B). (C)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42525]
2[Option ID=42526]

3[Option ID=42527]
4[Option ID=42528]

Sl. No.8
QBID:1007458




Match List T with List 1T

List-I Word) List-II (Antonym)
A Antique I Approval
B. Antipathy II Charge
C. Absolve III. Native
D. Alien IV. Vogue

Choose the correct answer from the option given below:

(1) A-IILB-IV.C-L.D-1I
(2) A-LB-ILC-IIL.D-IV
(3) A-ILB-III.C-IV.D-I
(4) A-IVB-ILC-II.D-III
(1) 1
(2) 2

3) 3
(4) 4

=115 Ty g=1-11 =1 faem it

-1 T 11
(&) = forge =i & A @ mEgm
(B) AT § T8 = 1) FFm
(C) o9 W FM F Irel (1T eaeq
D) TEAEEE IV) wah

Jra fzu MU foeeTi § | WE I 1 =949 Fia
(1) (A)-(IT). (B)-(IID). (Cy-(I). (D)-(IV)
(2) (A)-(I), (B)-(II). (C)-(IV). (D)«(1IT)
(3) (A)-(IV), (B)-(I), (C)-(III), (D)-(IT)
(4) (A)-(IIT). (B)-(IV), (C)-(II). (D)-(I)

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=42529]
2[Option ID=42530]
3[Option ID=42531]
4[Option ID=42532]

Sl. No.9
QBID:1007459




Choose the correct sentence.

(1) Let us get down for business. (2) Let us get down to business.
(3) Let us get down at business. (4) Let us get down over business.
(1) 1
(2) 2
(3) 3
(4) 4

FrofatEa 9 9 agmrdi e T

(A) =W

(B} ey

(Cy A9

(D) =7

(E) FTERTE

I feu mu fawewi § @ w91 T 1 =4 Sl

(1)  =aa (A). (B) 3 (O) (2) == (A). (C) 31 (E)

(3)  Fa« (B). (C) 37 (D) (4) T4 (C). (D) =1 (E)
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=42533]
2[Option ID=42534]
3[Option ID=42535]
4[Option ID=42536]

Sl. No.10
QBID:1007460

Identify the part of speech of the underlined word in the following sentence.

Uneasy lies the head that wears a crown.

(1) Noun (2) Preposition
(3) Adjective (4) Verb

1) 1

(2) 2

3) 3

(4) 4




(A) W e

(B)  TIE TE U HeAl o 32
(C) T= w Iz

(D) TaEmEIE =g T
(E) = #hl g7ii gret =irer

= f2u U Tl O § Oe 39T I 1 944 il

(1) == (B) 3 (D) (2) =4 (E) 31T (D)
(3)  =aEd (C) @r (B) (4) Fae (A) 3 (C)
1 1
(2) 2
(3) 3
4) 4

1[Option ID=42537]
2[Option ID=42538]
3[Option ID=42539]
4[Option ID=42540]

Sl. No.11
QBID:1007461

Who among the following enjoys the rank of a Cabinet Minister of the Indian Union?

(1) Deputy Chairman of the Planning Commaission
(2) Deputy Chairman. Rajva Sabha
(3) Secretary to the Government of India
(4) Comptroller and Auditor General
(1) 1
(2) 2
(3) 3
4) 4

frfetiiaa @ 9 wrdE g9 | Aefaigd 8 O 9 Hiede 50 & o= 9" a2 7
(1)  =I=H1 3EE 1 S9TEa5 (2) =T THT F IT-THMIE
(3)  UA TOHE = g (4) YRE F1 F9aF vd gEeE WeE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42541]
2[Option ID=42542]

3[Option ID=42543]
4[Option ID=42544]




Sl. No.12
QBID:1007462

Which Indian State launched "Mukhyamantri Nibir Matsyachash Prakalpa™?

(1) Assam {2y Kerala
(3) Tripura (4) Telangana

(1) 1
2) 2
3) 3
(4) 4

T ° FE-H 9EAE 757 F gt e aoemm vwer F gwee e e

(1) HH (2) A
(3) fEgm (4)  Fe

wtt

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42545]
2[Option ID=42546]

3[Option ID=42547]
4[Option ID=42548]

Sl. No.13
QBID:1007463

Government of which state has planned to conduct a programme . under the banner of
Rashtriva Ashmita Manch® on April 23, the birth anmiversary of freedom fighter Veer
EKunwar Singh who played a key role in the mutiny of 1857.

(1) Chattisgarh (2) Bihar
(3) Rajasthan (4) Uttar Pradesh

(1)
(2)
(3)
(4)

A W N =

g =1 TR A 23 ATE F Eaad TE 96 T o7 A 1857 # fOgr © U geayn gie A
off, =1 FIAT T ATHAT 59 F S 9 TR FEFS I i T TR 2

(1) =g (2) fe=m
(3)  TEEEH (4) T U=
(1) 1

(2) 2

(3) 3




1[Option ID=42549]
2[Option ID=42550]
3[Option ID=42551]
4[Option ID=42552]

Sl. No.14
QBID:1007464

Which features of rocks undergo changes 1n the process of Metamorphism?
(A) Structure

(B) Texture

(C) Carbon Content

(D) Actual chemical composition

Choose the correct answer from the options given below:

(1) (A). (B) and (D) only
(2) (A) and (B) only
(3) (A). (B) and (C) only
(4) (B) and (C) only

1) 1
(2) 2
(3) 3
(4) 4

ETEE0T =hi TERAT § Il =l FiE-H fERas § aiaed g B 7
(A) T

23

(B)  sHEE (ZFH=ER)

(C)  =hiea FHaawg (hee

(D)  avlas® TEEEE g

= fou e et 4 @ ge@ 3ugw I w1 =554 Fifae
(1)  =aet (A). (B) 3l (D)

(2)  @aEd (A) #1(B)
(3)  =ad (A). (B) 3R (0)
(4)  =Ha« (B) 3 (C)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42553]
2[Option ID=42554]

3[Option ID=42555]
4[Option ID=42556]




Sl. No.15
QBID:1007465

The headquarters of the Ghadar Party was located in which of the following city?

(1) Karachi (2) Lahore
(3) Montreal (4) Ban Francisco
(1) 1
(2) 2
(3) 3
4) 4
Frfefaa e o= & 1w ol =1 g saferm @
(1) ==l (2) <ER
(3)  wHiZAw (4) T HIEEn
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=42557]
2[Option ID=42558]
3[Option ID=42559]
4[Option ID=42560]

Sl. No.16
QBID:1007466

Six friends — Amar. Bimal. Chandni. Deep. Eknath and Fanrd are sitting on a bench facing in
the same direction. Chandm 1s sitting between Amar and Eknath. Deep 1s not at the end.
Bimal 1s sitting to the immediate rght of Eknath. Fard 1s not at the right end. Who 1s to the
immediate right of Famd?

(1) Deep (2) Chandm
(3) Amar {(4) Eknath
(1) 1
(2) 2

(3) 3
(4) 4

@ T — o, fome, =i, 4, T SR Wi Uk = W w A fom A g o 43 | St 3R v
F ota ° =i 441 21 < o anfad fm w98 21 vy & g T Taee s 21w ot T ow
21 2| w5 % o afed B 27

(1) =g (2) =TeHt
(3) = rang (4) THH
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=42561]
2[Option ID=42562]
3[Option ID=42563]
4[Option ID=42564]

Sl. No.17
QBID:1007467

In a row of soldiers facing North. Lal Chand 1s 8® to the right of Khurshid: Mayank 1= 16%
from the left end: Lal Chand 1s 16t to the mght of Jaikishan. who 1s 27t from the right end of
the row: Khurshid 1s nearer than Mayvank to the right end of the row: there are 5 soldiers
between Mavank and Khurshid. How many soldiers are there between Jai1 Kishan and
Mavanak?

(1) 3 @ 2
(3) 1 (4) 4
(1) 1
(2) 2
3) 3
(4) 4

ST foon # 4 *eh @s fHuieal i v Uit 4 oerEs GIiiG % qied 89 T W R, 5O aE E w16 9
TIH W ®, e FARYE o gifed 169 TIF W 3; A gt % gifed Tl @ 274 v w2 wefie
TEF I gl Ui & e % Al e #; geis oI waE & e 1 5 e 2| st o EE &
= # e fam & £

(1) 3 (2)
(3) 1 4y 4

[R]

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42565]
2[Option ID=42566]

3[Option ID=42567]
4[Option ID=42568]

Sl. No.18
QBID:1007468

A B.C. D and E, each are to be taught for one month duration from January to May one after
the other though not necessarily in the same order by lecturers P, Q. R. S and T. P teaches
course B but not in the month of April or May. @ teaches course ‘A’ in the month of March R
teaches in the month of January but does not teach course 'C’ or 'D’. Which course is taught

by S?

(1) Either C or D (Z) A
(3) Either D or E 4y B
(1) 1

(2) 2




(3) 3
(4) 4

A B, C.D#REH @ 2 U5 i 591 § 55 7% TH-TF F06 a0 90 § TF 780 o0 5w P, Q. R,
S ¥R T 7 92/ 9T 2 W I8 361 9 ° M1 979 781 ¢ PFE B 929 2 W o0 0 92 | 9Ee
T QUE F HEH ° FH ‘A’ 9z 2| R 7 F 984 ° ugW ® A wE C @D T8 92| S®E @

(1) C=D @ A
(3 DmE 4 B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42569]
2[Option ID=42570]

3[Option ID=42571]
4[Option ID=42572]

Sl. No.19
QBID:1007469

Choose the set in which the third statement is a logical conclusion of the first two.

@ Some Xs are Ps. Some Ps are Ys. Some Xs are Ys.
(I)  All Bangles are beautiful. Some beauties are crazy. Some Bangles are crazy.
(III) No belief i= strong. Only strong have muscles. No belief has muscles.

(IV)  All orangutans are men. Some men are strong. Some orangutans are strong.

(1) (IID) only
(2) (I) and (II) only
(3) (IV) only

(4) (I) and (IV) only

(1)
(2)
(3)
(4)

A W N =




- ¢

e fomreal O O ey S99 959 Uee 21 99heA] 1 99 °i9 e 27

M F5Xs. Ps?| F5Ps Ysil 75 Xs, Ys 8l
() = Ffed G2 7| F9 G5l 55 2| F9 g9 596 7|

= fau mu faaedt ® @ wew g I A = i

(1) == (D
(2) e (D) ¥ D)

(3w AV)
4 =4 (D ¥ IV)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42573]
2[Option ID=42574]

3[Option ID=42575]
4[Option ID=42576]

Sl. No.20
QBID:1007470

Which of the following arguments are formally correct?

(I Some bikes are motorhikes. All motorbikes are scooters. Some bikes are scooters.
(IT) All children are students. No students are bad. No children are bad.
(III)  No pencil 1s pen. Some pens are markers. Some pencils are markers.

(IV)y  Every man has a wife. All wives are devoted. No devoted has a husband.

(1) (II) and (ITT) only
(2) (I) and (IV) only
(3) (I) and (IT) only
(4} (I) and (IIT) only
1) 1
(2) 2

3) 3
(4) 4




Frafafaa 4 @ #9 9 9 =i =0 @ b 27

() % w15 HictEnEs vl 2| a4l Hietwss hel widl 5| 9 a5 Thed 7 A

(D) o o= B & S I G TAl 2| IS w= g0 7 =

(III)  =i$ Ufree U9 81 21 T U9 o1t 3| 50 Uidet W 2 |

(IV) & 9%9 o 18 uh ueit 2| @i ufeat femm a3 e o Feem & am gt 1@ ae
F= fou o fapeat 4 © ey ST I 9 Fife

(1) et (ID) &R (II0)
(2) e (I) 3R (IV)
(3)  “hae (I) 3 (1D
(4) A= (D) i (100

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42577]
2[Option ID=42578]

3[Option ID=42579]
4[Option ID=42580]

Sl. No.21
QBID:1007471

The numbers of four digits can be formed with the digits 1. 2. 3. 4 and 5. where repetition of
digits 1= not allowed 1=

(1) 30 (2) 60

(3) 120 (4) 240

(1) 1
(2) 2
(3) 3
(4) 4

AF 1. 23,479 5 F TWY 4 FH A FHaA TEAC SAE S GHAN 8, OH FH 7 @ f gEE
(arema) &l fan =)

(1) a0 {2y 60
(3) 120 (4) 240
(1) 1
2) 2
3) 3

(4) 4




1[Option ID=42581]
2[Option ID=42582]
3[Option ID=42583]
4[Option ID=42584]

Sl. No.22
QBID:1007472

A and B travel from point P to Q. a distance of 42 km at 6 km/h and 8 km/h. respectively. B
reaches @ first and returns immediately and meets A at R. Then the distance from points P to

R 1s
(1) 32 km (2) 36km
(3) 40 km (4) 46 km

1) 1
(2) 2
3) 3
(4) 4

A ¥ B 6 fdft /o wa 8 ff/=e i == @ fag P& Q % + o9 42 ffi. 1 ofi 73 + 21 B

Q TF ToH UEd UEadl & R 9id 979 wied 99 A ® R foig W We 21 PE R o & s 6 gl am
A7

(1) 39 Tt (2) 36 Tt

(3) 40 Tt (4) 46 Tt

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42585]
2[Option ID=42586]

3[Option ID=42587]
4[Option ID=42588]

Sl. No.23
QBID:1007473

If A purchases 10 oranges for . 25 and sells 9 oranges for . 25, then gain percentage 1s

(1) 12l (2) ?1
9 a

1 1
(3 9= 4 11—
; 9 } 9

(1) 1




2) 2
3) 3
4) 4

Ae A, 10 O =1 25 %90 § Eiedl & 3K 98 O "k &1 25 ¥UU § &9 odl &, a6 99 Uiaed @y e

T ?
(1) 12l 2y T—
9

1
(3) g9— (4 11—
) 9

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42589]
2[Option ID=42590]

3[Option ID=42591]
4[Option ID=42592]

Sl. No.24
QBID:1007474

Two natural numbers are in the ratio of 3 : 5 and their product 1z 2160, then the smaller

number 1s

(1) -12 {2y 12
(3) 36 (4y 60

1) 1

(2) 2

(3) 3

4) 4
Tl Wil S0 3 : 5% HUE A & S I e 2160 39U 3| 9 geH, Sid we gl 7
(1) -12 (% 12
(3) 36 (4) 60

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42593]
2[Option ID=42594]




3[Option ID=42595]
4[Option ID=42596]

Sl. No.25
QBID:1007475
i 2 3 : : =
If —. — and — are given fraction. then largest fraction 13
12 3 8
(1) = (2) 2
12 8
s 2 .
(3) E {4y All are equal
(1) 1
(2) 2
3) 3
4) 4

afz L 2w 3 fon e o 2, o8 @ el gt R A 27
: 3
(L 2 =
8

(3)

o | ko
=
R
ﬂl-’

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42597]
2[Option ID=42598]

3[Option ID=42599]
4[Option ID=42600]

Sl. No.26
QBID:1018001

Aelgg A==y Ghicpaor: &: ?

(1) FTAT:
2) HE:
(3) NI
4) a;urr‘r:

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42601]




2[Option ID=42602]
3[Option ID=42603]
4[Option ID=42604]

Sl. No.27
QBID:1018002

mmngﬁm IqegAfET ?
(1) gRA IO
(2) JHIUTH

L4

(3) FIACET Aol IIEITH
) FETHRAET AFecialATEATAH,

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42605]
2[Option ID=42606]

3[Option ID=42607]
4[Option ID=42608]

Sl. No.28

QBID:1018003

fecager: Few FioRfEa 2
(1) UMEIE]
(2) FEOTTANET
(3) %W;I'Qlﬁ'ﬂT
(4) AU

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=42609]
2[Option ID=42610]
3[Option ID=42611]
4[Option ID=42612]

Sl. No.29
QBID:1018004

ey ot 3 muRIsTET 2

(1) Horaftes:

(2) FHfFream=:

(3) CLIDER

(4) FfFduRE:
(1) 1




(3) 3
(4) 4

1[Option ID=42613]
2[Option ID=42614]
3[Option ID=42615]
4[Option ID=42616]

SI. No.30
QBID:1018005

‘CIATHAH STERUTATES ?
(1 afaan:

(4) ToTeTEg

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42617]
2[Option ID=42618]

3[Option ID=42619]
4[Option ID=42620]

Sl. No.31
QBID:1018006

rarerente; fadkfaafaa srea wfEa 2

(h FFCIE A
(2) FLOTHAH
3) FH TAA
(4) EIGIGE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42621]
2[Option ID=42622]
3[Option ID=42623]
4[Option ID=42624]

Sl. No.32
QBID:1018007




MHﬁﬂﬁ’H:gﬂﬁ?

(1) GoIE
(2) TUAT
(3) Tt
) fadiar

1) 1

(2) 2
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